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1. The original principle in ‘13w’ is to be definite and in the ‘23’ is to be indefinite,
except when the ‘1xiw’ is definite.

When there is a use in bringing a predicate to an indefinite, it can be ‘)3iw’, This
oftern happens when the indefinite is specific (by an adjective or by addition) or

when it encompasses all its instances or ...

Example: “S s (e 5 Gese 3ad 97 01 33l ST g5 G617,

2. The original principle is precession of /¥iw’,

When “/ii’ has to precede ¢ :a’:

1. When ‘)xiw’ is something that is originally prior, such as the interrogative nouns.
Example: “LaS il e (5 8l ¢yae AT a5

2. When the predicate is exclusive to ‘lxie’ by ‘Y1 or ‘i),

Example: “Jss ¥) 3aa b 57

3. When there is ‘Jwadll e’ in between.

Example: “0saliall aa SAll7

4. When a command verb is the ‘3’

Example: “Legul | sakaild 48 Ll 5 3 Lall 57

5. When the verb in the ‘3’ gives ‘a2’ to a concealed pronoun that refers to the
g’

Example:



L 91 ¢yl ) iy 4y a4y g ANY) Cany
6. When without precession, a confusion may happen.

Example: “aba Jhaa” or “Séna Ly






